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Solving Using the Laws of Exponents

Name:

Solve each problem using the laws of exponents.

b (1/3)2:

2) 3-2 X 33 =

3 3=

4) L=

5)

6) ol=

7) (2 x 3)2:

8) 32x33=

9) (37—)4 =

10) 23 X 2_2 =

Answers

10.
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ﬂh Solving Using the Laws of Exponents

Name. Answer Key

Solve each problem using the laws of exponents.

Vhye_ e = %

2) 32x33= 323 = 3

3) 30 = 1 = 1

4) 30 = 1 = 1

5 2= 1/22 = VA

6) ol= 2 = 2

) 2x32= 22x3 = 36

8 ¥x3= PP = a3

9 @@= #** = 6561
10) 28x92= 232 = 2

Answers
1 1/9
2 3
3 1
4 1
5 Z
6 2
7 36
8. 243
9. 6,561
10. 2
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C:h Solving Using the Laws of Exponents

Name:

Solve each problem using the laws of exponents.

1) (37—)3 = =

2) (SXZ)Z: =

3)

V(= -

B) 4y o3= _

6) 20: =

7)

9) 2'2 X 23: =

10) o= -

Answers

10.
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Solving Using the Laws of Exponents

Name. Answer Key

Solve each problem using the laws of exponents.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

(3)°= 2x3 = 729
(3x2)?%=  Fx2? = 36
2%= 1/22 = 7,

( 1/2 )= 1/24 = 716
'x2%= 2" = 128
’= 1 = 1

3?= 1/32 = 7
*x3zd= P = 3
22x 3= 22*3 = 2
2'= 2 = 2

Answers

1 729
2 36
; Z
4 1/16
5 128
6 1

7 1/9
8 3

9 2
10. 2
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JL_

Solving Using the Laws of Exponents

Name:

Solve each problem using the laws of exponents.

1) 34 % 3P=

2) o=

3) (23)4 =

4) (2 x 3)4:

5) P x32=

6)

0 (75)'=

8 0=

Answers

10.
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Solving Using the Laws of Exponents Name. Answer Key
Solve each problem using the laws of exponents. Answers
1) 4, 3= 4+3 - Y 1
37x3 3 3 1 /. 3
2 2
2) ol= 2 = )
2 : 4,096
4 1,296
3) 3\4 — 3x4 -
(2°) 2 4,096 : 3
1
6 16
M @2x3*= 2*x3* = 120 1
(2x3) ’ 7 / 81
8 1
5) 23, 42— 3-2 —
10. 128
6) - 1
) 4= /7 = 716
7 1 _ 1 —
) (73)*= /3 - 71
8) 2°= 1 = 1
9 Bx2t= 224 = 128
100 28x2t=  22** = 128
1-10 {90]80|70|60[50[ 40| 30| 20| 10] O |
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Solving Using the Laws of Exponents

Name:

Solve each problem using the laws of exponents.

1) 30:

2) o=

3) (2 X 3)2:

5) 2_2 X 24 =

6) ol=

" (1/2)3:

8) (34)2 =

9)

10) 24 X 2_3 =

Answers

10.
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ﬂh Solving Using the Laws of Exponents

Name. Answer Key

Solve each problem using the laws of exponents.

1) 3= 1 = 1
2) ol= 2 = 2
3 (2x3P%= 22x3 = 36
4) #x2B8=  2#*P = 128
5) 22xt=  p2t4 = 4
6) ol= 2 = 2
DT = %
8) (3%2= 3**2 = @561
9 z4= 1/34 = a1

10) *x2%= 2% = 2

Answers
1 1
2 2
3. 36
4 128
5 4
6 2
7 1/8
8 6,561
: /e
10 2
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C:h Solving Using the Laws of Exponents

Name:

Solve each problem using the laws of exponents.

1) 0= =

2) (SXZ)Z: =

3) 2 xot= =

4) 31: =

5) (24)2 = =

6) 33,32= -

7) Pxgi= -

8) 344 32= -

9)

10)

Answers

10.

[ M ath ] www.CommonCoreSheets.com 5

1-10 {90]80|70|60[50[ 40| 30| 20| 10] O |




=

Solving Using the Laws of Exponents Name. Answer Key
Solve each problem using the laws of exponents. Answers
1) 3= 1 = 1
1 1
2 36
2) 2= Fx? = 36
(3x2) X N 64
a 3
3 2y A= 2+4 -
2°%x2 2 64 5 256
1
6. 3
4) 31: 3 = 3 1
7. 3
1
8. 9
5 2%?= 2?2 = 256 L
(2°) 9 /s
1
10. /. 4
— - _ 1
6) 33,32 33+2 = A
_ B _ 1
N PBxzt= 33-4 = /3
— - _ 1
8) 3432 g4+2 = A
1
N 5= Ys = A
10) 1 1
A
1-10 {90]80|70|60[50[ 40| 30| 20| 10] O |
[ Math ] www.CommonCoreSheets.com 5




JL_

Solving Using the Laws of Exponents

Name:

Solve each problem using the laws of exponents.

K (75)'=

2) 5l=

3) 2y33=

4) 33 X 3_2 =

5) (23)2 =

6) 0=

7) 32x33:

8) (2 x 3)3:

9)

10) 33 % 32

Answers

10.
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ﬂh Solving Using the Laws of Exponents

Name. Answer Key

Solve each problem using the laws of exponents.

& ( l/2 )*= 1/24 = e
2 3= 3 = 3
3) 2% 33= 32-3 _ 1/3
4 Fxz?= F? =3
5) (2%)2= 23%2 - 64
6 = 1 = 1
7) 32x33= 32+3 — 243
8 @x3’=  2°x3¥ = 26
K 3"= 1/34 = 1/81

10) 33 % 2= 33+2 — 1/3

Answers
1
1. 16
5 3
1
3 /s
4 3
5 64
6 1
7 243
8. 216
1
9 81
1
10. /. 3
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C:h Solving Using the Laws of Exponents

Name:

Solve each problem using the laws of exponents.

1) 23x2'2: =

3) (3x2)4: =

6)

7) (24)3 = =

8)

9 g4y 32= —

10) o= -

Answers

10.
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ﬂh Solving Using the Laws of Exponents

Name. Answer Key

Solve each problem using the laws of exponents.

1) 284 02= 23-2 - 5

2) P8z A3 = 198

3 @x2*= 3'x2' = 129

4 3= 1 = 1

5 = 1 = 1

R ( 1/2 )= 1/22 = 7,

No@B= 2 = 400

8) >3= 1/23 _ 1/8

9 34 3%= 34+2 - 1/9
10) 2= 2 = 2

Answers

1 2

2. 128
3 1,296
4 1

5 1

: Z
7 4,096
8 1/8

9. 1/9
10 2
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C:h Solving Using the Laws of Exponents

Name:

Solve each problem using the laws of exponents.

1) 3= =

2) (23)2 =

3) (2 X 3)2:

4) 2, o4=

) (1/3)2:

6)

8) o4y 2=

) (1/3)3:

Answers

10.

[ M ath ] www.CommonCoreSheets.com

1-10 {90]80|70|60[50[ 40| 30| 20| 10] O |




=

Solving Using the Laws of Exponents

Name. Answer Key

Solve each problem using the laws of exponents.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

3= =

(23)2 - 232 64
(2x3)°%=  2°x3 36
22 x 2= 224 1/4
( l/3 )2= 1/32 7
3%= 2

2= =

o4y 2= o4+2 1/4
(73)= 7 7
Px3P= P 243

Answers
1 3
2 64
3 36
1
4. 4
1
5. 9
1
6. 9
7 1
1
g /4
1
9 / 27
10 243
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Solving Using the Laws of Exponents

Name:

Solve each problem using the laws of exponents.

1) 24 34=

2)

3 L=

4) ql=

5) 22x23:

6) (3 x 2)3:

" (1/3)2:

8) 2.34=

10) (22)*=

Answers

10.
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ﬂh Solving Using the Laws of Exponents

Name. Answer Key

Solve each problem using the laws of exponents.

D g2, g4= 324 - A

2 y4= 1/24 = 716

3 °= 1 = 1

4) 3l= 3 = 3

5 2x28=  22*3 = 32

6) 3x2°%= PFx2® = 216

D hye__ e = %

8) g2yg4= 24 = A

9 g2x3t= 3?2t = 9
10) (f= 224 = 56

Answers
1 1/9
2 1/16
3 1
4 3
5 32
6. 216
7. 7 9
8 1/9
9 9
10. 256
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Solving Using the Laws of Exponents

Name:

Solve each problem using the laws of exponents.

1) (24)2 =

2) 5l=

3 (75)'=

Y ()

5) 2-2 % 24

6) (2 x 3)3:

7) 3*x33=

8)

9 =

10) 224 24

Answers

10.
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Solving Using the Laws of Exponents Name. Answer Key
Solve each problem using the laws of exponents. Answers
1) (o4H2= o4x2 — 2
(2°) o6 1 256
2 3
2) 31: 3 = 3 1
3 /16
1
4. /, 8
3 1, a_ 1 -
) (75 )*= /4 - l/16 5 L
6. 216
4 1 _ 1 _
) (75)°= /7 = 7 7 3
1
8 /51
5 22x2t= 2?2t = 4
9 1
10, 64
6) 2x3°%= 2)x3® = 216
N gxzd= P = 3
1
O g4= /3 = 71
9 = 1 = 1
10) 22x %= 22%4 = 64
1-10 {90]80|70|60[50[ 40| 30| 20| 10] O |
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